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LEARNING

e | can use properties of parallelograms to find side lengths and angle measures.
o | can apply my knowledge of parallelograms to solve problems on the coordinate plane.

Properties of Parallelograms:

A f/ e Definition: If a quadrilateral is a parallelogram, then both pairs of opposite sides are
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e If a quadrilateral is a parallelogram, then

Example 1 — Use Properties of Parallelograms

P whun property are you usmg
Find the value of each variable in the parallelogram. Justify your answer.
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Example 2 — Use Properties of Parallelogram

3. The measure of one interior angle of a parallelogram is 50 degrees more than 4 times the measure of ok WY i
another angle. Find the measure of each angle. Justify your answer W \es
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4. Find the indicated measure in ZABCD . Explain.

a. AD=_13 (opp-sides are 2)

b. EC=_13__ (Pymagorean Thm)

¢ ED=_5 (dyganals bisect eaun ofher)
d. AC= 13+ - a4
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6. LBCE = 33 (fnangie sum)

— ¥ . oY GNGics 2 ,
h. 2DAE =_3% (Qlnkrior 0ng ) \ 54 613
" H L:- )
i. Perimeter of ZABCD. g 264 €C7:\69

. . \,{
Bridvib vl = S53unirs - N S
Example 3: Find the intersections of diagonals. RIS Y4y
2 Since Ane duagondis buect eocn oFner, +ney meet at the yudpoint ( == _i“'
5. The diagonals of ZSTUYV intersect at point W. Find the coordinates of W.
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Example 4: Find missing coordinate of parallelogram.
If you know the coordinates of three vertices of a parallelogram, you can use slope to find the
¢

coordinates of the fourth vertex.
both pares of opp- Sides ave paraltel
6. Three vertices of Z7RSTV are R(3, 1), S{-1, 5), and T(3, 6). Find the coordinates of V.
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